0218 GRINDER Hl MOISTURE OPTION-540
FOR H&S SN# 010184 AND LOWER

FOR FRONTIER SN# 011018 AND LOWER

10/23/09
Distribution:
___Greg Landon-Engineering Manager Initials: Date:
____Dan Wolff-Manager Initials: Date:
___Adam Lorge-Supervisor Initials: Date:
___Terry Schoenherr Initials: Date:
___Jamie Schmidt Initials: Date:
1. GENERAL NOTES:

A. SOME CUSTOMERS ARE HAVING TROUBLE GRINDING HI MOISTURE CORN OUT OF SEMIS.
THESE PEOPLE RUN FOR 12 HOURS AT A TIME WHICH CAUSE HEAT AMONG OTHER PROBLEMS TO
OUR GURRENT MIXER. THIS KIT WAS DEVELOPED TO WITH STAND THE DEMANDS OF THIS TYPE OF
USE. THIS KIT IS A RETRO FOR PRODUCTION ONLY. THIS KIT ONLY ADDS PARTS. PARTS THIS KIT

REPLACES MUST BE TURNED BACK INTO INVENTORY.,

B. THIS KIT IS FOR H&S MACHINES SERIAL NUMBER 010184 AND LOWER,
THIS KIT IS ALSC FOR FRONTIER MACHINES SERIAL NUMBER 011018 AND LOWER

0204 GRINDER MIXER HI MOISTURE KIT-540 ONLY

PRODUCT CODE DESCRIPTION

0204 GRINDER MIXER HI MOISTURE KIT

ADD (1) EMMEGI 2010K-128-2-JE COOLER
ADD (1)  TM45/A1 THERMOSTATIC SWITCH

ADD (1)  12-8 F42EDMXS % BSP TO 12JI1C MALE-MALE ADAPTER

ADD (1}  HYDRAULIC HOSE ASSEMBLY

34" X 36" HOSE WITH 106HY-12-12 HOES ENDS

ADD (2)  12-CBX %" 90 EL SWIVEL FITTING
ADD (3)  PARKER HYD MOTORS TEO165FS100AAAA
ADD (1)  2/A68 POWERBAND BELT

ADD (1)  2AK154 X 1-3/16 W/5/16" KEYWAY SHEAVE
ADD (8)  18AWG 2C WIRE

ADD (4)  5/8 BOLTS

ADD (4)  5/8 NUTS

ADD (8)  5/8 LOCKWASHERS

ADD (1) GM2-WE-93 LARGE SHIELD HYD PUMP
ADD (1} GM2-WE-84 IDLER SHORT PIVOT
ADD (1)  GM2-WE-85 SECOND AUGER

ADD (1) GM2-WE-100  HORIZONTAL AUGER CUPPED

ADD {1) GM2-6G-03 COOLER BRACKET

SUPPLIER
PRICE ENG
PRICE ENG
VAD
VAD
VAD

GS
MOTION
MOTION
MANUFACTURED
MANUFACTURED
MANUFACTURED
MANUFACTURED
MANUFACTURED

0204 GRINDER HI MOISTURE OPTION

PAGE 1 OF 1



0219 GRINDER HI MOISTURE OPTION-1000
FOR H&S SN# 010184 AND LOWER
FOR FRONTIER SN+# 011018 AND LOWER

1/4/09
Distribution:

__ Greg Landon-Engineering Manager Initials: Date:
__ DanWolff-Manager Initials: Date:
___Adam Lorge-Supervisor Initials: Date:
___Terry Schoenherr Initials: Date:
___Jamie Schmidt Initials: Date:

1. GENERAL NOTES:

A. SOME CUSTOMERS ARE HAVING TROUBLE GRINDING HI MOISTURE CORN OUT OF SEMIS.
THESE PEOPLE RUN FOR 12 HOURS AT A TIME WHICH CAUSE HEAT AMONG OTHER PROBLEMS TO
OUR CURRENT MIXER. THIS KIT WAS DEVELOPED TO WITH STAND THE DEMANDS OF THIS TYPE OF
USE. THIS KIT IS A RETRO FOR PRODUCTION ONLY. THIS KIT ONLY ADDS PARTS. PARTS THIS KIT
REPLACES MUST BE TURNED BACK INTO INVENTORY. THIS KIT IS FOR UPGRADING A GRINDER
THAT IS ALREADY SET UP FOR 1000 RPM. IT WILL NOT CONVERT A 540 MACHINE TO 1000 RPM.

B. THIS KIT IS FOR H&8 MACHINES SERIAL NUMBER 010184 AND LOWER.
IT IS ALSO FOR FRONTIER MACHINES SERIAL NUMBER 011018 AND LOWER

2. 0210 GRINDER MIXER HI MOISTURE KIT-1000 ONLY

PRCDUCT CODE DESCRIPTION SUPPLIER
0210 GRINDER MIXER HI MOISTURE KIT-1000 ONLY

ADD (1) EMMEGI 2010K-125-2-JE COOLER PRICE ENG

ADD (1)  TM45/A1 THERMOSTATIC SWITCH FPRICE ENG

ADD (1)  12-8 F42EDMXS %2 BSP TO 12JIC MALE-MALE ADAPTER  VAD
ADD (1)  HYDRAULIC HOSE ASSEMBLY

3 X 36" HOSE WITH 106HY-12-12 HOES ENDS VAD
ADD (2)  12-CBX %" 80 EL SWIVEL FITTING VAD
ADD(3)  PARKER HYD MOTORS TE0165FS100AAAA GS
ADD (1)  2/A56 POWERBAND BELT MOTION
ADD (1)  2AK94 SHEAVE MOTION

ADD (8)  16AWG 2C WIRE
ADD (4)  5/8 BOLTS

ADD (4)  5/8 NUTS

ADD (8)  5/8 LOCKWASHERS

ADD (1)  GM2-WE-95 SECCND AUGER MANUFACTURED
ADD (1)  GM2-WE-100  HORIZONTAL AUGER CUFPED MANUFACTURED
ADD (1) GM2-6G-93 COOLER BRACKET MANUFACTURED

0204 GRINDER HI MOISTURE OPTION PAGE 1 OF 1






